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Kilayim in the heart of the kerem

The Mishnah in Kilayim (5:5) says:

“If someone plants a vegetable in a vineyard or [sees it
growing and] leaves it, 45 vines around the vegetable
become prohibited. When is this so, if the vines are
planted either 4 amot (cubits) apart or 5 amot apart.
However if they were planted 6 amot apart or 7 amot
apart then only the vines that are within a radius of 16
amot become prohibited. We consider a circle and we
do not square off [the area].”

The reason that we take a radius of 16 amot from the
vegetable is because 16 amot is the maximum amount of
space that you can have between vines in a vineyard and
still say that the vines form a vineyard. If the space between
the vines is greater than this then they are considered as
individual vines. As the Mishnah (4:9) says:
“If someone plants his vineyard with a spacing of more
than 16 amot he is allowed to plant other seeds in
between.”
Subsequently any vine that is growing within 16 amot of
the vegetable is considered to be growing together with the
vegetable and is prohibited.

In a case where the vines are planted 4 amot apart the
Mishnah is simple to understand. Consider the following
diagram:
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The Mishnah is more difficult to understand in the case
where the vines are planted 5 amot apart as in the following
diagram:
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The Rambam answers this question by explaining that not
only do vines that are within the circle become assur but
also any vine that is within 4 amot of the circle becomes
assur. This is because the area around each vine is
cultivated for 4 amot in order for the vine to grow properly.
If the circle intercepts the 4 amah area around the vine then
the vine is considered to be growing together with the
vegetable and becomes assur. Therefore effectively you
have to consider a circle with a 20 amah radius. This
includes all the vines in the grid except for the four corners,
giving you 45 vines.

The Rambam is difficult to understand. If you always
extend the 16 amah circle by 4 amot, because you are
concerned not only about the vines that are within the circle
but also about the vines that are within 4 amot of the circle,
then why does this not also apply in the case of the
vineyard that is planted at a spacing of 4 amot? Why do you
not even consider vines that are exactly on the perimeter of
the circle? Because of this question the Rambam’s
explanation of the Mishnah is rejected by the Kesef
Mishnah and the Rosh.

I would like to suggest the following answer:
If a vineyard is planted at a spacing of 4 amot then the
vines are not considered independently. They do not have
individual significance. Each vine is considered only as a
part of the overall vineyard. This is for two reasons.

1. Each vine shares its 4 amot (kedei avodat

hakerem) with a number of other vines.
2. 4 amot was the typical spacing for a vineyard.

Therefore when you draw the circle around the vegetable
that is growing in the centre of the vineyard, the circle is
drawn precisely, cutting a swathe through the vineyard.
Any vine that falls within the circle is prohibited because
this area of the vineyard becomes a prohibited kilayim area.
Any vine that is outside of the area is not within the
problematic area of the vineyard and is permitted.

If, however, the vines are planted at a spacing of 5 amot,
each vine has its own individual cultivated area surrounding
it. Therefore each vine is considered individually to see
whether it is within the 16 amah proximity of the vegetable.
If the vegetable is within 16 amot of the vine’s individually
cultivated space, then the vine is considered to be growing
together with the vegetable and is assur because of kilayim.
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Revision Questions
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What is the minimum spacing between rows of vines such that the area can
be defined as a vineyard? (a: ')

Can grain be planted in a hole in the vineyard that is used for pressing
wine? (': 1)

When can a watchmen’s hut in a vineyard not be used for planting grain?
(":n)

How can one plant a single vine and grain within the same ditch? (7:/n)
Can one plant produce inside a house surrounded by vines? (*7: /1)

How many vines are made assur if a vegetable is planted in the centre of
vineyard, whose spacing between each of the vines is: ('n: /1)

o 4 amot?
o 5amot?
o 6 amot?
o 7 amot?

If someone finds a vegetable growing in his vineyard, does he need to
remove it immediately? If not, when does leaving it become problematic?
(":11)
What are the four cases the Mishnah lists of unintentional planting and why
is this important? ('3: 1)
Is one allowed to leave thorns growing in his vineyard? ('n:/n)
Explain what is meant by the term aris? How much space must be left from
vines planted in this manner, and from where is the spacing measured?
("'N:1)
If the side of a mountain is divided in to levels (like a staircase) and an aris
is constructed on one of the levels, how much space must be left between
that vine and produce that will be planted on the next level? (a:)
Do two rows of vines planted on bordering levels combined to define the
area as a vineyard? ("2: ")
If someone is growing vines on a lattice frame, can they plant other
produce under the frame that is not yet covered by the vine? What is the
law if someone does plant grain that that area? (3: )
Does that same ruling (as the previous question) apply if the person uses a
fruit tree in place of the lattice frame? (*7: )
What is the ruling (with respect to the previous question) if a person used a
non-fruit bearing tree in place of the lattice frame? (Explain the debate
regarding what is considered an ilan s’rak with respect to this law.) (n: 1)
How large must a breach be in an aris such that grain can be planted in the
gap? (": ")
Explain what is meant by the mishnah when it says the following:
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And what is the ruling in such as case? (Note different opinions in the Rishonim)
('3:1)
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